[ Efficiency vs vertpos |
-~ 0.5

Q0,45 -+ oeeeedren R s
2 : : :

S A P
Q . . .

§0.35F e R o s
0.3 oo S~ N—
e RSSO A— S

) SRS N — *4 ------------
URT: SR o] S
8 SRS NS . 3 —

&fkfﬁfﬁééﬁjfffffﬁ;

ﬂm ..........

10 0?
TP vertr (cr%)

ICI
TTTT

effi

AL

1072 107 1

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom
0.8

N C

3] - : : : : :
> 0.7 P RRREEE Breneeeedeseeeens Breeeees

%) - . . . . .

z E : : : : :
& 0.6 N EEER REPEES Beeeenee ERREEPIES Beeeee

c o : : : : :

Q r : : : : :
(8] ... L L [

g OSp

o E : : : : :
0.4F----- L AR A P
TE NI s -
S W e
0.1 P # """" g oo

E : ! : ¥ :
obia iy ity T R

2 *tF : | ] | :
g 122_ ................................
SN SO 1 W A S
12— ------- - ------- + 4 B

-30 -20 -10

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
> N R T
O e A A cTTTTT R e
€ : : : : : : :
QA it
U L S
0 S T
S N I T SO A N
E0.25F - r it
3] : : : : : : :
O e RS SIS S S S
R
e
005F | g
10

iency

Ratio

1.1

%0 =15 =10 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


